

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	24-2-11-50% W/SCU FERTILIZER	102525	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	75,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox				75,000.0000	0.38000	28,500.00	
783	1	John Deere Landscapes	Keith McGinty	6239			75,000.0000	0.36000	27,000.00	
856	1	Graco Fertilizer Company	Robert LeGette				75,000.0000	0.43900	32,925.00	
2355	1	CentralGar denandPet	Amanda Stewart				75,000.0000	0.35000	26,250.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	14-14-14-90% SCU FERTILIZER	102526	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	2,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE	Susan Maddox				2,000.0000	0.36000	720.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	SUPPLY OF GA John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.48750	975.00	
856	1	Graco Fertilizer Company	Robert LeGette				2,000.0000	0.47400	948.00	
2355	1	CentralGar denandPet	Amanda Stewart				2,000.0000	0.37300	746.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	8-8-8-PROFESSIONAL LANDSACP E A	102527	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	10,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox				10,000.0000	0.21700	2,170.00	
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				10,000.0000	0.20000	2,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	4-3-2-ORGANIC FERTILIZER	102528	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	22,500.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	7-2-2-ORGANIC FERTILIZER	102529	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	50.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE	Susan Maddox					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	SUPPLY OF GA John Deere Landscapes	Keith McGinty	6239				NO BID		
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	6-3-0 ORGANIC FERTILIZER	102530	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	1,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			1,000.0000	0.23750	237.50	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	18-2-18 ORGANIC FERTILIZE R	102531	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	250.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCA PE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			250.0000	0.35000	87.50	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	FUNGICIDE S - DACONIL/ MANICURE	102532	675-45	Insecticides and Fungicides, Liquid	50.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCA PE	Susan Maddox					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	SUPPLY OF GA John Deere Landscapes	Keith McGinty	6239			50.0000	32.00000	1,600.00	
856	1	Graco Fertilizer Company	Robert LeGette				50.0000	51.12000	2,556.00	
2151	1	BWI Companie	Jason Sharpe	8297			50.0000	52.40000	2,620.00	
2355	1	CentralGar denandPet	Amanda Stewart				50.0000	32.00000	1,600.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	INSECTICI DES: TOP CHOICE OR FI	102533	675-45	Insecticides and Fungicides, Liquid	15,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			15,000.0000	2.75000	41,250.00	
856	1	Graco Fertilizer Company	Robert LeGette				15,000.0000	2.75000	41,250.00	
2151	1	BWI Companie	Jason Sharpe	8297			15,000.0000	2.75000	41,250.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2355	1	CentralGar denandPet	Amanda Stewart				15,000.0000	2.25000	33,750.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	INSECTICI DES: SURFACTA NT	102534	675-45	Insecticides and Fungicides, Liquid	100.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCA PE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			100.0000	24.00000	2,400.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	INSECTICI DES: MERIT - GRANULAT	102535	675-45	Insecticides and Fungicides, Liquid	5,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			5,000.0000	0.85000	4,250.00	
856	1	Graco Fertilizer Company	Robert LeGette				5,000.0000	0.80600	4,030.00	
2151	1	BWI Companie	Jason Sharpe	8297			5,000.0000	1.01000	5,050.00	
2355	1	CentralGar denandPet	Amanda Stewart				5,000.0000	0.74000	3,700.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	INSECTICIDES: HORTICULTURAL OIL	102536	675-45	Insecticides and Fungicides, Liquid	10.0000	CA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			10.0000	70.00000	700.00	
856	1	Graco Fertilizer Company	Robert LeGette				10.0000	11.12000	111.20	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	INSECTICI DES: M- PED SOAP	102537	675-45	Insecticides and Fungicides, Liquid	10.0000	CA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCA PE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			10.0000	180.76000	1,807.60	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	INSECTICI DES: BANDIT (GRANULA R	102538	675-45	Insecticides and Fungicides, Liquid	2,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			2,000.0000	0.85000	1,700.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	INSECTICIDES: CROSSCHECK	102539	675-45	Insecticides and Fungicides, Liquid	20.0000	CA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			20.0000	112.00000	2,240.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				20.0000	132.00000	2,640.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	HERBICIDE S: FUSILADE	102540	675-85	Dry Formulation Herbicides	200.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			200.0000	307.56000	61,512.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
17	HERBICIDE S: IMAGE	102541	675-85	Dry Formulation Herbicides	25.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			25.0000	119.18000	2,979.50	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
18	HERBICIDE S: OUST	102542	675-85	Dry Formulation Herbicides	36.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			36.0000	98.67000	3,552.12	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
19	HERBICIDE S: SOUTHERN TRIMEC	102543	675-85	Dry Formulation Herbicides	20.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			20.0000	54.00000	1,080.00	
856	1	Graco Fertilizer Company	Robert LeGette				20.0000	50.12000	1,002.40	
2151	1	BWI Companie	Jason Sharpe	8297			20.0000	51.60000	1,032.00	
2355	1	CentralGar denandPet	Amanda Stewart				20.0000	26.00000	520.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
20	HERBICIDE S: PENDIMET HRIN PREM	102544	675-85	Dry Formulation Herbicides	1,000.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA	Susan Maddox					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	LANDSCAPE SUPPLY OF GA John Deere Landscapes	Keith McGinty	6239			1,000.0000	34.00000	34,000.00	
856	1	Graco Fertilizer Company	Robert LeGette				1,000.0000	33.24000	33,240.00	
2151	1	BWI Companie	Jason Sharpe	8297			1,000.0000	62.00000	62,000.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
21	HERBICIDE S: SAHARA	102545	675-85	Dry Formulation Herbicides	800.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			800.0000	12.87000	10,296.00	
856	1	Graco Fertilizer Company	Robert LeGette				800.0000	17.19000	13,752.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
22	HERBICIDE S: GARLON	102546	675-85	Dry Formulation Herbicides	100.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			100.0000	62.00000	6,200.00	
856	1	Graco Fertilizer Company	Robert LeGette				100.0000	84.71000	8,471.00	
2151	1	BWI Companie	Jason Sharpe	8297			100.0000	55.00000	5,500.00	
2355	1	CentralGar denandPet	Amanda Stewart				100.0000	73.75000	7,375.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
23	HERBICIDE S: GRANULAR PRE-EM	102548	675-85	Dry Formulation Herbicides	300.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE	Susan Maddox					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	SUPPLY OF GA John Deere Landscapes	Keith McGinty	6239			300.0000	0.23700	71.10	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2151	1	BWI Companie	Jason Sharpe	8297			300.0000	1.32000	396.00	
2355	1	CentralGar denandPet	Amanda Stewart				300.0000	0.25000	75.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
24	DYE-LIQUID	102549	675-85	Dry Formulation Herbicides	50.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			50.0000	19.20000	960.00	
856	1	Graco Fertilizer Company	Robert LeGette				50.0000	29.38000	1,469.00	
2151	1	BWI Companie	Jason Sharpe	8297			50.0000	33.25000	1,662.50	
2355	1	CentralGar denandPet	Amanda Stewart				50.0000	110.00000	5,500.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
25	SPREADER/ STICKER	102550	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	60.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			60.0000	24.00000	1,440.00	
856	1	Graco Fertilizer Company	Robert LeGette				60.0000	8.50000	510.00	
2151	1	BWI Companie	Jason Sharpe	8297			60.0000	35.00000	2,100.00	
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
26	LIMESTONE	102551	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	150,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA	Susan Maddox				150,000.0000	0.08900	13,350.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	LANDSCAPE SUPPLY OF GA John Deere Landscapes	Keith McGinty	6239			150,000.0000	0.10000	15,000.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				150,000.0000	0.08200	12,300.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
27	TURFACE (PRO-CHOICE)	102552	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	16,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			16,000.0000	0.17960	2,873.60	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart				16,000.0000	0.14500	2,320.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
28	TERRA SORB MEDIUM HYDROGEL	102553	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	1.0000	BX	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox				1.0000	180.00000	180.00	
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	65.00000	65.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
29	YUCCA WETTING AGENT	102554	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	55.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE	Susan Maddox					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	SUPPLY OF GA John Deere Landscapes	Keith McGinty	6239			55.0000	32.60000	1,793.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
30	MYCORTREE ROOTSaver VERTMULCH	102555	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	1.0000	BX	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	85.00000	85.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
31	FLEXX TURF MIX	102556	790-20	Grass Seeds	60.0000	CA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		
783	1	John Deere Landscapes	Keith McGinty	6239				NO BID		
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
32	MYCORTREE SAVER	102557	335-38	Fertilizer, Tree and Shrub, Spikes, Tablets, etc	10.0000	BX	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			10.0000	310.00000	3,100.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
33	PERENNIAL GRASS SEED	101973	790-20	Grass Seeds	35,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox				35,000.0000	1.15000	40,250.00	
783	1	John Deere Landscapes	Keith McGinty	6239			35,000.0000	0.98000	34,300.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2151	1	BWI Companie	Jason Sharpe	8297			35,000.0000	0.96000	33,600.00	
2355	1	CentralGar denandPet	Amanda Stewart				35,000.0000	1.04500	36,575.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
34	ANNUAL GRASS SEED	101974	790-20	Grass Seeds	8,000.0000	LB	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY OF GA	Susan Maddox				8,000.0000	0.49500	3,960.00	
783	1	John Deere Landscapes	Keith McGinty	6239			8,000.0000	0.53000	4,240.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2151	1	BWI Companie	Jason Sharpe	8297			8,000.0000	0.45860	3,668.80	
2355	1	CentralGar denandPet	Amanda Stewart				8,000.0000	0.43500	3,480.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
35	HERBICIDES: DIREX	102547	675-85	Dry Formulation Herbicides	100.0000	GA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
578	1	DELTA LANDSCAPE SUPPLY	Susan Maddox					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	OF GA John Deere Landscapes	Keith McGinty	6239			100.0000	6.50000	650.00	
856	1	Graco Fertilizer Company	Robert LeGette					NO BID		
2355	1	CentralGar denandPet	Amanda Stewart					NO BID		